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Question 1
Question Type: MultipleChoice

Performance testing on Software-as-a-Service (SaaS) implementations is almost always carried out with a white box testing approach

that does not involve the use of automated testing software.

Select the correct answer.

Options: 
A- True

B- False

Answer: 
B

Question 2
Question Type: MultipleChoice



Which of the following characteristics of cloud-based IT resources can be measured with Infrastructure-as-a-Service (IaaS) and Platform-

as-a-Service (PaaS) implementations?

SELECT ALL THAT APPLY

Options: 
A- availability

B- confidentiality

C- reliability

D- performance

Answer: 
A, C, D

Question 3
Question Type: MultipleChoice



Which of the following characteristics of cloud-based IT resources are difficult to fully test on Software-as-a-Service (SaaS)

implementations?

SELECT ALL THAT APPLY

Options: 
A- availability

B- confidentiality

C- reliability

D- performance

Answer: 
A, C

Question 4
Question Type: MultipleChoice

White box testing is commonly used with which of the following cloud delivery models?



SELECT ALL THAT APPLY

Options: 
A- Infrastructure-as-a-Service (IaaS)

B- Platform-as-a-Service (PaaS)

C- Software-as-a-Service (SaaS)

D- Replicated Software-as-a-Service (SaaS)

Answer: 
A

Question 5
Question Type: MultipleChoice

Which of the following are primary areas of testing a cloud service in relation to information published in its service level agreement?

Select the correct answer.



Options: 
A- availability

B- reliability

C- performance

D- All of the above.

Answer: 
D

Question 6
Question Type: MultipleChoice

We are building a new service composition comprised of two on-premise services and two cloud services. What type of testing should

we perform in order to ensure specifically that the on-premise and cloud-based services can interact as required?

Select the correct answer.

Options: 



A- virtual testing

B- integration testing

C- stability testing

D- regression testing

Answer: 
B

Question 7
Question Type: MultipleChoice

Which of the following types of testing are directly associated with testing the speed, responsiveness, stability and/or reliability of cloud-

based IT resources?

SELECT ALL THAT APPLY

Options: 
A- virtual testing



B- performance testing

C- stress testing

D- regression testing

Answer: 
B

Question 8
Question Type: MultipleChoice

Because non-relational cloud storage avoids the processing overhead that can be imposed by relational databases, it can be more

scalable.

Select the correct answer.

Options: 
A- True

B- False



Answer: 
A

Question 9
Question Type: MultipleChoice

Non-relational cloud storage is identical to traditional relational storage, except that it exists as a database hosted in a cloud environment

instead of an on-premise environment. It is referred to as "non-relational" because the database is no longer able to form relationships

with on-premise databases. As a result, two-phase commit transactions across cloud and on-premise environments are no longer

possible.

Select the correct answer.

Options: 
A- True

B- False

Answer: 
B



Question 10
Question Type: MultipleChoice

With cloud storage, consumers only pay for the actual storage they use.

Select the correct answer.

Options: 
A- True

B- False

Answer: 
A

Question 11
Question Type: MultipleChoice



Which of the following are data storage levels used by cloud-based storage mechanisms?

Select the correct answer.

Options: 
A- dataset

B- files

C- block

D- All of the above.

Answer: 
D
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